Classwork

Which is the factored form of
3a? —24ab + 48h*?

A (3a—16b)(a—3b)
(3a— 16b)(a—3b)
C 3(a—4b)a— 4b)
3(a—8b)a—8b)
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What quantity should be added to both sides of
this equation to complete the square?

¥ —8xy=375

o O o =

What are the solutions for the quadratic
equation x% + 6x = 16?

A —2. 8
B —2.8
c 2,-8
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Leanne correctly solved the equation
y4dx=6 by completing the square.
Which equation is part of her solution?

A (x+2) =8

B (x+2) =10
C (x+4)Y =10
D (x+4) =22

Which is one of the solutions to the equation
2x2 —x—4=107?

1
A E—Jﬁ

B _&w’ﬁ

c 1+433
4

o —1-33
4

(4% — 20 4+-8)— (x? +3x—2)=
A 3x?+x+6
B 3x* +x+10
C 3x?—5x+6

D 3x2—5x+10



Which is a factor of X — 11x + 247

x+3
x—3
x+4
x—4

L I o T o o =

8

Which of the following shows 9;1 + 124+ 4
factored completely?

A (3t42)
B (3t +4)(3t+1)
C (9t+4)(r+1)

D 02 4+12r+4

If x? is added to x, the sum is 42. Which of the
following could be the value of x?

A -7
B -6
C 14
D 42



10.

The graph of the equation y — ¥:_3x—4is
shown below.
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For what value or values of xis y = 07?
A x=—1only

B x=—4 only

]

r=—landx=4
D y=landx=—4

11.

Which of the following expressions is equal to

(x+2)+(x—2)(2x+1)?



12.

Which best represents the graph of
y=—x2+43?
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14.

The sum of two binomials is 5y2 — 6y, If one of

the binomials is 3x2 — 2x, what is the other

binomial?

A 2xl—4x

[

B

[

7
x- —8x

o

8x2 +4x

)

8x2 —8x

15.

Which product of factors is equivalent to
(x+ ]}‘t —y2?

A (x4 14
B [.r+l—_'t'}|2
C (r—I4+yix—1-=y)

D (x4+14+yix+1—1y)

16.

For a wedding, Shereda bought several dozen
roses and several dozen carnations. The roses
cost $15 per dozen, and the carnations cost $8
per dozen. Shereda bought a total of 17 dozen
flowers and paid a total of $192. How many
roses did she buy?

A © dozen
B T dozen
C & dozen
D

S dozen



17.

The total area of a rectangle is 4 x4 _llyz,

Which factors could represent the length
times width?

=

(22— 3y)(227 4+ 3y)

[ws]

(2.1'3 +3_1';I(2.1'3 + _’-_'rll

C (2x—3y)(2x—3y)

[

(2x+3y)(2x—3y)

18.

Which expression is equivalent to
(6y2 —2)06y+2)7

A 36y° —4
B 36y" —4
C 36y +1292 412v—4

D 36y +12y7—12y—4

19

Which polynomial represents
(3x% 4 x—4) (20 —5)?

A axd 1322 —13x—20
B 6xF —13x2 —13x4+20
C 6xd +13x2 +3x—20

D 6x® +13x2 +30 420

20.

What are the x-intercepts of the graph of y= 12x2 —5¢—27

A l:md—l
6

1
B —land—
6

2 1
C —and——
3 4

D —g and l
3 4



21.

Which ordered pair is the vertex of
flxy=x*4+6x 457

A (—3.-—-4)
B (—2.—3)
C i—Lm

D (0.—5)
22

Which inequality is shown on the graph below?
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=—2(x—1) +12

Which is the graph of y
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Which point lies on the line defined by
Ix+6y=27

A (0. 2)
B (0.6)

c ||_
D |I
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Which graph best represents the solution to this
system of inequalities?

2x =z y—1
2x—5y <10
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27

V16 + 38 =

Lo S o T s N =

10

John's solution to an equation is shown below.

Given: x?+35x+6=0
Step1:  (x+2)(x+3)=0
Step2: x+2=0o0r x4+3=0

Step}: x=—-2orx=-3

Which property of real numbers did John use for Step 27

A

B
C
D

multiplication property of equality
zero product property of multiplication
commutative property of multiplication

distributive property of multiplication aver
additian






